Austin Elementary Redistricting Capacity History



Calcad Name	Published FTE Number	DCSD Capacity 2017	DCSD Capacity 2019	Difference	Capacity Change Notes
School Name	Number	-		Difference	
Hightower Elementary School	475	566	568	+2	Minor change due to room use.
Dunwoody Elementary School	925	973	955	-18	New capacity accounts for increase of 3 (K-5 Early Intervention) EIP rooms.
Vanderlyn Elementary School	525	606	516	-90	New capacity accounts for 22 gifted homerooms.
Chesnut Elementary School	437	468	358	-110	Usage of portable classrooms for specials/pull out previoulsy inflated the capacity. New capacity methodology accounts for this. New capacity includes 12 (K-5 Early Intervention) EIP classrooms.
Kingsley Elementary School	463	559	443	-116	3 Special Education classes moved into Kingsley ES in 2019. The new capacity accounts for 6 (K-5 Early Intervention) EIP classroom.
New Austin Elementary School*	950	950	950	0	*950 students is the capacity of all new prototype elementary schools. For details see the Prototype Capacity Report on the dekalbschoolsga.org/redistricting webpage.
ES Totals	3,775	4,122	3,790	-332	



Hightower Elementary Facility Capacity Report									
R-#	Room Type	Room Type Students Per Room Facility Class		Facility		l Facility l			otal + Portables)
	Elementary Schools		Room Count	Student Capacity	Portable Count	Room Count	Student Capacity		
R01	Pre-school	22	1	22	0	1	22		
R02	Kindergarten	24	5	120	0	5	120		
R03	General classroom grades 1-3	27	7	189	5	12	324		
R04	General classroom grades 4-5	31	8	248	0	8	248		
R05	K-5 Gifted - self-contained	25	0	0	0	0	0		
R06	K-5 Early Intervention (EIP) self-contained - Level 1	22	5	110	1	6	132		
R07	K-5 Special Education self-contained - severe and profound	8	0	0	0	0	0		
R08	PK-5 Special Education self-contained - other	10	0	0	0	0	0		
R09	K-3 ESOL - self-contained	15	0	0	0	0	0		
R10	4-5 ESOL - self-contained	18	0	0	0	0	0		
R11	K-5 Resource - Pull out (EIP, Gifted, SPED, ESOL) & Other	0	1	0	3	4	0		
R12	K-5 Science/STEM	0	1	0	0	1	0		
R13	K-5 Computer Lab (ESOL computer lab)	0	0	0	0	0	0		
R14	K-5 Music/Band/Strings	0	1	0	0	1	0		
R15	K-5 Art	0	0	0	1	1	0		
R16	K-5 Physical Education	0	1	0	0	1	0		
R17	K-5 Media Center	0	1	0	0	1	0		
R17.1	K-5 Non-Instructional Use	26	1	26	1	2	52		
	Total		32	715	11	43	898		
	Scheduling Factor (Reduction of total to account for the number of periods the room is not used and allow for rounding of teacher allotments)			85%			85%		
	Capacity (Total x Scheduling Factor)			608			763		
	Facility Room Count / Total (ratio of facility rooms to total rooms)					Х	0.74		

DCSD Capacity 568

Facility FTE Capacity

(Mid-Range Capacity Based on GaDOE tables) 475

^{*} R05 Students per room erroneously reported as 23 on previous years report.



4058 Hightower Elementary Facility		Grades Served:	PK-5
Room Category	Room Count	Students/Rm	Capacity
R01: Pre-school:	1.00	22	22
R02: Kindergarten:	1.00	24	24
R03: General Classroom Grades 1-3:	5.00	27	135
R04: General Classroom Grades 4-5:	10.00	31	310
R05: K-5 Gifted - Self-Contained:	0.00	23	0
R06: K-5 Early Intervention (EIP) Self-Contained - Level 1:	10.00	22	220
R07: K-5 Special Education Self- Contained - Severe and Profound:	0.00	8	0
R08: PK-5 Special Education Self-Contained - Other:	0.00	10	0
R09: K-3 ESOL - Self-Contained:	0.00	15	0
R10: 4-5 ESOL - Self-Contained:	0.00	18	0
R11: K-5 Resource - Pull Out (EIP, Gifted, SPED, ESOL):	1.00	0	0
R12: K-5 Science/STEM:	1.00	0	0
R13: K-5 Computer Lab (ESOL Computer Lab):	0.00	0	0
R14: K-5 Music/Band/Strings:	1.00	0	0
R15: K-5 Art:	0.00	0	0
R16: K-5 Physical Education:	1.00	0	0
R17: K-5 Media Center:	1.00	0	0
R17.1: K-5 Non-Instructional Use:	0.00	26	0
Total:	32.00		711
Scheduling Factor:		X	85%
Total Capacity - Instructional Space Model:		=	604
Adjustments (to account for under/over utilized space):		+	-38
Total Capacity - Instructional Space Model:		=	566

Thursday, February 22, 2018 Page 1 of 1



	Dunwoody Elementary Facility Capacity Report						
R-#	Room Type	Students Per Room	Facility		Portable Classrooms	Total (Facility + Portables)	
	Elementary Schools		Room Count	Student Capacity	Portable Count	Room Count	Student Capacity
R01	Pre-school	22	2	44	0	2	44
R02	Kindergarten	24	0	0	0	0	0
R03	General classroom grades 1-3	27	0	0	0	0	0
R04	General classroom grades 4-5	31	0	0	0	0	0
R05	K-5 Gifted - self-contained	25	29	725	1	30	750
R06	K-5 Early Intervention (EIP) self-contained - Level 1	22	16	352	8	24	528
R07	K-5 Special Education self-contained - severe and profound	8	0	0	0	0	0
R08	PK-5 Special Education self-contained - other	10	0	0	0	0	0
R09	K-3 ESOL - self-contained	15	0	0	0	0	0
R10	4-5 ESOL - self-contained	18	0	0	0	0	0
R11	K-5 Resource - Pull out (EIP, Gifted, SPED, ESOL) & Other	0	6	0	2	8	0
R12	K-5 Science/STEM	0	1	0	0	1	0
R13	K-5 Computer Lab (ESOL computer lab)	0	1	0	0	1	0
R14	K-5 Music/Band/Strings	0	2	0	0	2	0
R15	K-5 Art	0	1	0	0	1	0
R16	K-5 Physical Education	0	1	0	0	1	0
R17	K-5 Media Center	0	1	0	0	1	0
R17.1	K-5 Non-Instructional Use	26	0	0	1	1	26
	Total		60	1,121	12	72	1,348
	Scheduling Factor (Reduction of total to account for the number of periods the room is not used and allow for rounding of teacher allotments)			85%			85%
	Capacity (Total x Scheduling Factor)			953			1,146
	Facility Room Count / Total (ratio of facility rooms to total rooms)					Х	0.83

DCSD Capacity 955

Facility FTE Capacity

(Mid-Range Capacity Based on GaDOE tables) 925

^{*} R05 Students per room erroneously reported as 23 on previous years report.



212	Dunwoody Elementary Facility	Grades Served:	PK-5
-----	------------------------------	----------------	------

Room Category	Room Count	Students/Rm	Capacity
R01: Pre-school:	2.00	22	44
R02: Kindergarten:	0.00	24	0
R03: General Classroom Grades 1-3:	0.00	27	0
R04: General Classroom Grades 4-5:	0.00	31	0
R05: K-5 Gifted - Self-Contained:	33.00	23	759
R06: K-5 Early Intervention (EIP) Self-Contained - Level 1:	13.00	22	286
R07: K-5 Special Education Self- Contained - Severe and Profound:	0.00	8	0
R08: PK-5 Special Education Self-Contained - Other:	3.00	10	30
R09: K-3 ESOL - Self-Contained:	0.00	15	0
R10: 4-5 ESOL - Self-Contained:	0.00	18	0
R11: K-5 Resource - Pull Out (EIP, Gifted, SPED, ESOL):	2.00	0	0
R12: K-5 Science/STEM:	1.00	0	0
R13: K-5 Computer Lab (ESOL Computer Lab):	1.00	0	0
R14: K-5 Music/Band/Strings:	2.00	0	0
R15: K-5 Art:	1.00	0	0
R16: K-5 Physical Education:	1.00	0	0
R17: K-5 Media Center:	1.00	0	0
R17.1: K-5 Non-Instructional Use:	0.00	26	0
Total:	60.00		1,119
Scheduling Factor:		X	85%
Total Capacity - Instructional Space Model:		=	951
Adjustments (to account for over/under utilized space):		+	22
Total Capacity - Instructional Space Model:		=	973



Vanderlyn Elementary Facility Capacity Report								
R-#	Room Type	Students Per Room	Facility				otal + Portables)	
	Elementary Schools		Room Count	Student Capacity	Portable Count	Room Count	Student Capacity	
R01	Pre-school	22	1	22	0	1	22	
R02	Kindergarten	24	0	0	0	0	0	
R03	General classroom grades 1-3	27	0	0	0	0	0	
R04	General classroom grades 4-5	31	0	0	0	0	0	
R05	K-5 Gifted - self-contained	25	22	550	8	30	750	
R06	K-5 Early Intervention (EIP) self-contained - Level 1	22	0	0	0	0	0	
R07	K-5 Special Education self-contained - severe and profound 8 0 0		0	0	0			
R08	PK-5 Special Education self-contained - other	10	0	0	0	0	0	
R09	K-3 ESOL - self-contained	15	0	0	0	0	0	
R10	4-5 ESOL - self-contained	18	0	0	0	0	0	
R11	K-5 Resource - Pull out (EIP, Gifted, SPED, ESOL) & Other	0	4	0	2	6	0	
R12	K-5 Science/STEM	0	1	0	0	1	0	
R13	K-5 Computer Lab (ESOL computer lab)	0	1	0	0	1	0	
R14	K-5 Music/Band/Strings	0	2	0	1	3	0	
R15	K-5 Art	0	1	0	0	1	0	
R16	K-5 Physical Education	0	1	0	0	1	0	
R17	K-5 Media Center	0	1	0	0	1	0	
R17.1	K-5 Non-Instructional Use	26	1	26	0	1	26	
	Total		35	598	11	46	798	
	Scheduling Factor (Reduction of total to account for the number of periods the room is not used and allow for rounding of teacher allotments)			85%			85%	
	Capacity (Total x Scheduling Factor)		_	508		_	678	
	Facility Room Count / Total (ratio of facility rooms to total rooms)					Х	0.76	

DCSD Capacity 516

Facility FTE Capacity

(Mid-Range Capacity Based on GaDOE tables) 525

^{*} R05 Students per room erroneously reported as 23 on previous years report.



173 Vanderlyn Elementary Facility Grades Served: PK-5

Room Category	Room Count	Students/Rm	Capacity
R01: Pre-school:	1.00	22	22
R02: Kindergarten:	6.00	24	144
R03: General Classroom Grades 1-3:	17.00	27	459
R04: General Classroom Grades 4-5:	2.00	31	62
R05: K-5 Gifted - Self-Contained:	0.00	23	0
R06: K-5 Early Intervention (EIP) Self-Contained - Level 1:	0.00	22	0
R07: K-5 Special Education Self- Contained - Severe and Profound:	0.00	8	0
R08: PK-5 Special Education Self-Contained - Other:	0.00	10	0
R09: K-3 ESOL - Self-Contained:	0.00	15	0
R10: 4-5 ESOL - Self-Contained:	0.00	18	0
R11: K-5 Resource - Pull Out (EIP, Gifted, SPED, ESOL):	1.00	0	0
R12: K-5 Science/STEM:	1.00	0	0
R13: K-5 Computer Lab (ESOL Computer Lab):	1.00	0	0
R14: K-5 Music/Band/Strings:	2.00	0	0
R15: K-5 Art:	1.00	0	0
R16: K-5 Physical Education:	1.00	0	0
R17: K-5 Media Center:	1.00	0	0
R17.1: K-5 Non-Instructional Use:	1.00	26	26
Total:	35.00		713
Scheduling Factor:		X	85%
Total Capacity - Instructional Space Model:		=	606
Adjustments (to account for over/under utilized space):		+	0
Total Capacity - Instructional Space Model:		=	606



	Chesnut Elementary Facility Capacity Report								
R-#	Room Type	Students Per Room	Facility		Facility		Portable Classrooms		otal - Portables)
	Elementary Schools		Room Count	Student Capacity	Portable Count	Room Count	Student Capacity		
R01	Pre-school	22	1	22	0	1	22		
R02	Kindergarten	24	1	24	0	1	24		
R03	General classroom grades 1-3	27	3	81	0	3	81		
R04	General classroom grades 4-5	31	0	0	1	1	31		
R05	K-5 Gifted - self-contained	25	0	0	0	0	0		
R06	K-5 Early Intervention (EIP) self-contained - Level 1	22	12	264	2	14	308		
R07	K-5 Special Education self-contained - severe and profound	8	0	0	0	0	0		
R08	PK-5 Special Education self-contained - other	10	3	30	0	3	30		
R09	K-3 ESOL - self-contained	15	0	0	0	0	0		
R10	4-5 ESOL - self-contained	18	0	0	0	0	0		
R11	K-5 Resource - Pull out (EIP, Gifted, SPED, ESOL) & Other	0	3	0	2	5	0		
R12	K-5 Science/STEM	0	1	0	0	1	0		
R13	K-5 Computer Lab (ESOL computer lab)	0	0	0	0	0	0		
R14	K-5 Music/Band/Strings	0	1	0	0	1	0		
R15	K-5 Art	0	1	0	0	1	0		
R16	K-5 Physical Education	0	1	0	0	1	0		
R17	K-5 Media Center	0	1	0	0	1	0		
R17.1	K-5 Non-Instructional Use	26	0	0	0	0	0		
	Total		28	421	5	33	496		
	Scheduling Factor (Reduction of total to account for the number of periods the room is not used and allow for rounding of teacher allotments)			85%			85%		
	Capacity (Total x Scheduling Factor)			358			422		
	Facility Room Count / Total (ratio of facility rooms to total rooms)					Х	0.85		

DCSD Capacity 358

Facility FTE Capacity

(Mid-Range Capacity Based on GaDOE tables)

437

Principal Signature:	
Prepared by:	David Yoke, Planning & GIS Analyst

^{*} R05 Students per room erroneously reported as 23 on previous years report.



3053 C	Chesnut Elementary Facility	Grades Served:	PK-5
--------	-----------------------------	----------------	------

Room Category	Room Count	Students/Rm	Capacity
R01: Pre-school:	1.00	22	22
R02: Kindergarten:	3.00	24	72
R03: General Classroom Grades 1-3:	10.00	27	270
R04: General Classroom Grades 4-5:	6.00	31	186
R05: K-5 Gifted - Self-Contained:	0.00	23	0
R06: K-5 Early Intervention (EIP) Self-Contained - Level 1:	0.00	22	0
R07: K-5 Special Education Self- Contained - Severe and Profound:	0.00	8	0
R08: PK-5 Special Education Self-Contained - Other:	0.00	10	0
R09: K-3 ESOL - Self-Contained:	0.00	15	0
R10: 4-5 ESOL - Self-Contained:	0.00	18	0
R11: K-5 Resource - Pull Out (EIP, Gifted, SPED, ESOL):	3.00	0	0
R12: K-5 Science/STEM:	1.00	0	0
R13: K-5 Computer Lab (ESOL Computer Lab):	0.00	0	0
R14: K-5 Music/Band/Strings:	1.00	0	0
R15: K-5 Art:	1.00	0	0
R16: K-5 Physical Education:	1.00	0	0
R17: K-5 Media Center:	1.00	0	0
R17.1: K-5 Non-Instructional Use:		26	0
Total:	28.00		550
Scheduling Factor:		X	85%
Total Capacity - Instructional Space Model:		=	468
Adjustments (to account for over/under utilized space):		+	0
Total Capacity - Instructional Space Model:		=	468



Kingsley Elementary Facility Capacity Report									
R-#	Room Type	Students Per Room	Facility		Portable Classrooms	Total (Facility + Portables)			
	Elementary Schools		Room Count	Student Capacity	Portable Count	Room Count	Student Capacity		
R01	Pre-school	22	1	22	0	1	22		
R02	Kindergarten	24	2	48	0	2	48		
R03	General classroom grades 1-3	27	5	135	0	5	135		
R04	General classroom grades 4-5	31	4	124	0	4	124		
R05	K-5 Gifted - self-contained	25	0	0	0	0	0		
R06	K-5 Early Intervention (EIP) self-contained - Level 1	22	6	132	0	6	132		
R07	K-5 Special Education self-contained - severe and profound	8	0	0	0	0	0		
R08	PK-5 Special Education self-contained - other	10	6	60	0	6	60		
R09	K-3 ESOL - self-contained	15	0	0	0	0	0		
R10	4-5 ESOL - self-contained	18	0	0	0	0	0		
R11	K-5 Resource - Pull out (EIP, Gifted, SPED, ESOL) & Other	0	2	0	0	2	0		
R12	K-5 Science/STEM	0	1	0	0	1	0		
R13	K-5 Computer Lab (ESOL computer lab)	0	0	0	0	0	0		
R14	K-5 Music/Band/Strings	0	1	0	0	1	0		
R15	K-5 Art	0	1	0	0	1	0		
R16	K-5 Physical Education	0	1	0	0	1	0		
R17	K-5 Media Center	0	1	0	0	1	0		
R17.1	K-5 Non-Instructional Use	26	0	0	0	0	0		
	Total		31	521	0	31	521		
	Scheduling Factor (Reduction of total to account for the number of periods the room is not used and allow for rounding of teacher allotments)			85%			85%		
	Capacity (Total x Scheduling Factor)			443			443		
	Facility Room Count / Total (ratio of facility rooms to total rooms)					Х	1.00		

DCSD Capacity 443

Facility FTE Capacity

(Mid-Range Capacity Based on GaDOE tables) 463

^{*} R05 Students per room erroneously reported as 23 on previous years report.



5059 Kingsley Elementary Facility Grades Served: PK-5

Room Category	Room Count	Students/Rm	Capacity
		<u> </u>	
R01: Pre-school:	1.00	22	22
R02: Kindergarten:	4.00	24	96
R03: General Classroom Grades 1-3:	12.00	27	324
R04: General Classroom Grades 4-5:	6.00	31	186
R05: K-5 Gifted - Self-Contained:	0.00	23	0
R06: K-5 Early Intervention (EIP) Self-Contained - Level 1:	0.00	22	0
R07: K-5 Special Education Self- Contained - Severe and Profound:	0.00	8	0
R08: PK-5 Special Education Self-Contained - Other:	3.00	10	30
R09: K-3 ESOL - Self-Contained:	0.00	15	0
R10: 4-5 ESOL - Self-Contained:	0.00	18	0
R11: K-5 Resource - Pull Out (EIP, Gifted, SPED, ESOL):	0.00	0	0
R12: K-5 Science/STEM:	0.00	0	0
R13: K-5 Computer Lab (ESOL Computer Lab):	1.00	0	0
R14: K-5 Music/Band/Strings:	1.00	0	0
R15: K-5 Art:	1.00	0	0
R16: K-5 Physical Education:	1.00	0	0
R17: K-5 Media Center:	1.00	0	0
R17.1: K-5 Non-Instructional Use:	0.00	26	0
Total:	31.00		658
Scheduling Factor:		X	85%
Total Capacity - Instructional Space Model:		=	<i>559</i>
Adjustments (to account for over/under utilized space):		+	0
Total Capacity - Instructional Space Model:		=	559